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Note: 1. Answer all questions. No additional answer sheet would be provided.
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2. The test is aimed at assessing awareness of issues, analytical and
communication skills.
GRIET BT IZaW &l B TSR AR RATATONHS T FaR B BT GRE@T 2 |

3. Clarity and precision in expression should be the aim in answering
questions.
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4. The word limit given is the maximum. There is no harm in writing less.
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Important

5. There are two parts in Question No. 5 (Question No. 5 (A) is to be
attempted by applicants for English Journalism and Question No. 5 (B) is
to be attempted by applicants for Hindi Journalism)
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Q1. ‘The problem of corruption cannot be solved by a magic wand like the proposed
Lokpal Bill.” Analyse the statement in the context of recent agitation by the civil
society for establishing the institution of Jan Lokpal. (Word limit 150) 15 marks
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Or /=

Do you think that the “decreasing child sex ratio is a social disaster’? Discuss the
reasons and consequences of decreasing child sex ratio in the light of the recent
census report.

(Word limit 150) 15 marks
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Q2. In view of the Fukushima disaster, should India go for nuclear power or
alternative encrgy? Discuss. (Word limit 150) 15 marks
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Or/a

What are the main reasons for the continuous increase in food prices in India? Suggest
five ways to deal with this problem: (Word limit 150) 15 marks
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Q3. Write short analytical notes on any two within 100 words each.
7.5x2 =15 marks

gs 3. frafafes 4 @ 59 Q1 w— 9w Reewomes feaoh fafag
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a. Role of social media in the democratic uprising in Arab world

F) IR TG § Aredite SR 3 e fifem @ e

b. Significance of West Bengal Assembly clection results

w) offem ame Ry gar & Tdisl &1 78

¢. Killing of the Al Qaeda leader Osama bin Laden and its impact on Indo-Pak
relations
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d. Is the threat of NDM-1 Superbug real or imaginary?
8) (1 & -1 GERET B GV aRalas A Feid

Q4. Write on any ten of the following within two-three sentences cach:
(Word limit 30) 10x2 = 20 marks
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(FRrean 12 IE W) (10.Xx 2 = 20 3ID)
a. Julian Paul Assange $) Gferga g I
b. Ghulam Mohd Vastanvi W) A s gl
c. Dilip Padgaonkar m) feeh gemaaw
d. Aruna Shanbag ) /M WEHETT
e. Joseph Lelyveld ) WIEE Sedee
f. Bashar al-Assad ¥) ¥R IF IR
2. K. Balachander B) @ e
h. Shanti Bhushan W) wmfngor



i. Paul Valthaty 31 dia geerndl
j. Leela Samson o) oiten 9uA
k. Siddhartha Mukherjee #) fage! st
I. Tarun Gogoi 3) awe g
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QS5 (A). (For English Journalism applicants) (10 + 5+ 5 =20 Marks)

(i) Please state the key differences (in meaning and/or in usage) between the two
words/phrases given under each of the following heads: (10 marks)

(a) Its and It's

(b) Between and Among

(c) Compliment and Complement
(d) Maximum and Highest

(e) Alternate and Alternative

(f) Growth and A growth

(g) Few and A few

(h) Presently and At present

(i) Economic and Economical

(j) Differ and Defer

(it) Correct if anything is wrong in the following sentences: (5 marks)

(a) Two-third of the students of the school were absent yesterday.

(b) One-third of the students of the school were absent ycesterday.

(¢) Ten per cent of India’s population suffer from physical and mental disabilities.
(d) One per cent of India’s men pays taxes every year.

(e} The principle of the school failed to honour the basic principals of education.

(iii) Correct spellings, grammar and punctuations in the following passage. (5 marks)

It is an outing that cricket queen Pt. Usha would to want eraize from her memory. The
Payyoli Express’ who came within a whisker of clinching gold at 2016 olympics at
Rio. got a state of official sympathy when she arrived at Bohpal.

Usha’s troubles startd the mement she landed. On a rainy Monday night, she was
stranded at the airport as there are no ne to see her off. The Padma Shree and Arjuna
Oscar awardee’s travels does not end there as she reached the Steel Authority of
India’s centre on her own, only told to be to be to share a hostel room with fifteen
others.

An appalled Usha accepted the offer and instaid chequed into the India Coffee House,
about 5 00 km from the venue the of champion Ship.



Q5 (B). (for Hindi Journalism applicants) (10 + 5 + 5= 20 Marks)

(a:)ﬁmﬁﬁamrw%aﬁagmaﬁlﬁmaﬁtww
M s &S (15 marks)

New Delhi, 10 May. Cardiovascular diseases, diabetes. cancers, and chronic
respiratory diseases account for 63 per cent (36 million) of all deaths globally. This is
the finding of the World Health Organisation's global status report on non-
communicable discases (NCDs) for 2008, and the situation is unlikely to be very
different today.

In India, according to estimates by the Public Health Foundation of India, about two
million people die every year from cardiovascular diseases caused directly by high
blood pressure. The rate of prevalence of high blood pressure is 24-30 per cent in
urban areas and 12-14 per cent in rural areas. But the percentage of people aware of
their condition is only 30 per cent in citics/towns and 10-12 per cent in villages.

The New England Journal of Medicine reported last year that India would lose $237
billion over the next decade owing to non-communicable diseases. Prevention and
control of these diseases is achicvable, provided the government uses a little
imagination to implement some effective low-cost population-wide interventions.

As every physician knows, physical inactivity, alcohol consumption, tobacco use, and
unhcalthy diets figure high in the list of causative factors for NCDs. If individuals can
be faulted for not adopting healthier lifestyles, the failure of the government to spread
awarencss is inexcusable.
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